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1)a,b0O0ODO,NO00O00,00 $(@a+b)™n=\sum_{r=0}"nC n"~ra”~{n-
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O0000,00%\0megas, 000 :$\emptyset$ D OAD OO OSA™CS OO0 $A 1\cup A 2%, 00
0 $A 1\cap A 2%, 0000 $A 1\cap A_2=\emptyset$
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1) $0\leq P(A)\leq 1% 2) $P(\Omega)=1,P(\emptyset)=0$ 3) $P(A"~c)=1-P(A)$ 4) $P(A 1\cup

A 2)=P(A_1) + P(A_2)-P(A_1\cap A 2)$5) 0O $A_1,A 2$0 0,0 O $P(A_1\cup A 2)=P(A_1)+P(A_2)$ 6)
O0OnOO0O$A 1,A 2)\dots, A n$0 0 00,0 0 $P(A_1\cup A_2\cup \dots \cup

A n)=P(A_1)+P(A_2)+\dots +P(A_Kk)$ (DO O O)

#000000 1)0$P(A 1)>0$0 ,$P(A 2|A 1)=\dfrac{P(A_1\cap A 2)}{P(A 1)}$ DO O $A 1$00 0
0D00,$A2$00000.2)00%$A 10A 2$0000,0 $P(A_1)>0$0,$P(A 2|A_1)=P(A 2)$ 3)

0 $P(A 1)>0$0 ,$P(A_1\cap A_2)=P(A 1)P(A_2|A 1)=P(A 2)P(A 1]A 2)$4) 00 $A 10A2¢0 000,
000 $P(A_1\cap A_2)=P(A_1)P(A_2)$ 5) O $P(A_1\cap \dots \cap A_{n-1})>0%$0 ,0 $P(A_1\cap A_2\cap
\dots \cap A_n)=P(A_1)P(A_2|A_1)P(A_3|A_1\cap A_2)\dots P(A_n|A 1\cap A_2\cap \dots \cap A_{n-1})$
0000 6)00%$A 1)\dots, An$O OO 000,00$P(A 1\cap A 2\cap \dots \cap A_n)=P(A_1)\dots
P(A n)$
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